C:# Divisione di un numero intero

Nome:
Risolvi ogni problema. Risposte
1) 3615= 2) 126:7 =
- - 1.
2
3.
3 168:6 = 4) 32:3= 4.
5.
6.
7.
5 25:2= 6) 37:5=
8.
0.
10.
7) 58:2= 8 575:9=
— 11.
12.
9 35:2= 10) 792:2 =
11) 935:8= 12) 70:2=
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ﬂh Divisione di un numero intero

Nome: Soluzioni
Risolvi ogni problema. Risposte
1) ‘5= 2) 7 =
361:5 72rl 126:7 18 . 211
> 18
3 28
3 168:6= 28 4 32:3=_10r2 4 10r2
5. 12r1
6. 7r2
7 29
5 25:2= 12r1 6) 37.5= 712
8. 63r8
0. 17r1
10, 396
7 2= 8 ‘0=
) 58:2 29 ) 575:9 6318 " 11617
12. 35
9 35:2= 17r1 10) 792:2= 396
11) 935:8= 11617 12) 70.2= 35
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[M atematlca] www.CommonCoreSheets.it 5 111121 8] 0




